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MONTHLY TEST – APRIL, 2023 
 

1. If a person is moving from pole to equator, the centrifugal force acting on 
him 
a. Increase    b. Decrease    
c. Remains the same  d. Increase and then decrease  
e. Answer not known 
xU kdpjd; JUtj;jpypUe;J epy eLf;Nfhl;il Nehf;fp tUk;NghJ mtd; 
Nky; nray;gLk; ika tpyf;F tpir vt;thW ,Uf;Fk; 
a. mjpfhpf;Fk;   b. FiwAk;    
c. khwhky; ,Uf;Fk;   d. mjpfhpj;J gpd; FiwAk;  
e. tpil njhpatpy;iy 

 
2. The work done by the conservative force for a closed path is 

a. always negative   b. zero    
c. always positive   d. not defined    
e. Answer not known 
%ba Rw;wpy; moptpy;yh tpirahy; nra;ag;gl;l Ntiy _____ MFk;. 
a. vg;nghOJk; vjph;kiw  b. Rop     

c. vg;NghJk; Neh;kiw  d. tiuaWf;fg;gltpy;iy  
e. tpil njhpatpy;iy 

 
3. When a cricketer hits the ball with his bat, the force exerted by the bat on 

the ball is _____ force.  
a. Gravitational  b. Frictional    c. Impulsive 
d. Centrifugal  c. Answer not known 
xU fphpf;nfl; tPuh; jd; kl;ilahy; ge;ij mbf;Fk; NghJ> kl;il ge;jpd; 
kPJ nrYj;JtJ _____ MFk;. 

a. Gtp<h;g;G tpir  b. cuha;T tpir  c. fzj;jhf;F tpir  
d. ikatpyfy; tpir e. tpil njhpatpy;iy 

 
4. When a ball is projected upwards there is an increase in its 

1. Potential Energy 2. Momentum  3. Kinetic Energy 
a. 1 only   b. 1 and 2 only   c. 2 only 
d. 2 and 3 only  e. Answer not known 
ge;ij NkNy vwpAk;NghJ mJ NkNy nry;fpwJ. mg;nghOJ ge;jpy; 
fPo;f;fz;ltw;Ws; vJ mjpfhpf;fpwJ? 
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1. epiyahw;wy; (m) rhj;jpakhd Mw;wy;   2. ce;jk; 
3. ,af;f Mw;wy; 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;  c. 2 kl;Lk; 
d. 2 kw;Wk; 3 kl;Lk; e. tpil njhpatpy;iy 

 

5. If ‘gravity’ is absent in the Universe, which of the following statement is 
True? 
a. It leads to the sensation of weightlessness 
b. It leads to complete destruction 
c. We have day and night 
d. Both (a) and (b) are correct 
e. Answer not known 
mz;lj;jpy; Gtp<h;g;G KLf;fk; ,y;iynadpy; fPo;fz;ltw;Ws; vJ 
rhpahdJ? 
a. vilapd;ik vd;w czh;it Vw;gLj;Jk; 
b. Kw;wpYk; cUf;Fiyit Vw;gLj;Jk; 
c. ,uT gfy; vd;gd ehk; ghh;f;fyhk; 
d. (a) kw;Wk; (b) ,uz;Lk; rhp 

e. tpil njhpatpy;iy 
 

6. Which of the following is used for artificial rain? 
a. Liquid oxygen    b.  Liquid Hydrogen 
c. Liquid carbon monoxide   d. Solid carbon dioxide 
e. Answer not known 
nraw;if kio nga;a Nkfj;jpd; kPJ J}tg;gLtJ vJ?  
a. jput Mf;]p[d;    b. jput i`l;u[d;  

c. jput fhh;gd; Nkhdhf;i]L   d. jpu fhh;gd; il Mf;i]L  
e. tpil njhpatpy;iy 

 

7. d-block elements are called as 
a. Inner transition metal  b. Transition metals c. Alkali metals 
d. Alkaline earth metals  e. Answer not known 
d-njhFjp jdpkq;fs; ,t;thW miof;fg;gLfpwJ. 
a. cs; ,ilepiyj; jdpkq;fs;  b. ,ilepiyj; jdpkq;fs; 
c. fhu cNyhfq;fs;   d. fhu kz; cNyhfq;fs; 
e. tpil njhpatpy;iy 

 

8. Match the class of compound with its functional group 
Compound     Functional group 
A. Alcohol    1. -COOH 
B. Aldehyde    2. -OH 
C. Ketone     3. -CHO 
D. Carboxylic acid   4.   O 
               || 
          -C- 
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A B C D 
a. 2 1 3 4 
b.  2 3 1 4 
c.  3 2 4 1 
d.  2 3 4 1  e. Answer not known 
$l;Lg; nghUis mjd; tpidgL njhFjpAld; ,iz 
$l;Lg;nghUs;   tpidgL njhFjp 
A. My;f`hy;   1. -COOH 
B. My;bi`L   2. -OH 
C. fPl;Nlhd;    3. -CHO 
D. fhh;ghf;]pypf; mkpyk;  4.   O 
          || 
          -C- 

A B C D 
a 2 1 3 4 
b.  2 3 1 4 
c.  3 2 4 1 
d.  2 3 4 1  e. tpil njhpatpy;iy 

 

9. The splendid blue colour of ultramarine, which is used in oil paints and 
paper production is due to the presence of which one of the following 
ions? 
a. Polysulphide [ 2

2S − ]  b. Chloride   c. Sulphate 

d. Polyiodides   e. Answer not known  
vz;nza; tz;zg; G+r;R kw;Wk; jhs; jahhpg;gpy; gad;gLk; fUePyf;fy; 
(ultramarine) fPo;f;fhZk; ve;j xU madpahy; kpfr;rpwe;j ePyepwj;ijg; 
ngw;Ws;sJ? 
a. gy;ry;igl;L [ 2

2S − ]  b. FNshiuL  c. ry;Ngl;L 

d. gy;mNahilL   e. tpil njhpatpy;iy 
 

10. Which of the following is/are not an allotrope of Carbon? 
i. Diamond ii. Carborundum  iii. Graphite  iv. Fullerene 
a. (i) and (iii)  b. (ii) and (iv)   c. (ii) alone 
d. (i), (iii) and (iv)  e. Answer not known 
gpd;tUtdtw;Ws; vJ/vit fhh;gdpd; khw;WU my;y? 
(i) ituk; (ii) fhh;nghuz;lk;  (iii) fpuhigl;  (iv) Gy;yhPd; 
a. (i) kw;Wk; (iii)  b. (ii) kw;Wk; (iv)   c. (ii) kl;Lk; 
d. (i), (iii) kw;Wk; (iv) d. tpil njhpatpy;iy 

 
11. Iodine is insoluble in water, then how Tincture of Iodine is prepared? 

a. By dissolving iodine in alcohol 
b. By dissolving equal amount (10g) of iodine and potassium iodide in 

water 
c. By dissolving potassium iodide in water 
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d. The aquous solution of I2 and KI is mixing (upto 300 ml) in rectified 
spirit 

e. Answer not known 
mNahbd; ePhpy; fiuahJ? gpd; vt;thW bd;rh; mNahbd; 
jahhpf;fg;gLfpwJ? 
a. mNahbid My;f`hypy; fiuj;J 
b. rk msTs;s mNahbd; (10g) kw;Wk; nghl;lhrpak; mNahilia ePhpy; 

fiuj;J 
c. nghl;lhrpak; mNahilia ePhpy; fiuj;J 
d. mNahbd; kw;Wk; nghl;lhrpak; mNahilbd; ePh;k fiuriy fha;r;rp 

tbj;j My;f`hYld; Nrh;j;J 300 ml mstpw;F fiuriy jahhpj;J  
e. tpil njhpatpy;iy 

 

12. Glycolysis takes place in 
a. Cytoplasm  b. Mitochondria   c. Chloroplast 
d. Nucleus   e. Answer not known 
fpisf;fhyp]p]; eilngWk; ,lk; ________ MFk; 

a. irl;Nlhgpshrk;  b. ikl;Nlhfhz;l;hpak;   c. gRq;fzpfk; 
d. epA+f;spa];  e. tpil njhpatpy;iy 

 

13. The enzyme involved in unwinding of DNA is 
a. Telomerase  b. Helicase    c. Polymerase 
d. Ligase   e. Answer not known 
DNA it ,uz;L ,iofshf gphpg;gjpy; <LgLk; nehjp ahJ? 

a. nlNyhkNu];  b. n`ypNf];   c. ghypnkNu]; 
d. ypNf];   e. tpil njhpatpy;iy 

 
14. Human blood grouping was discovered by 

a. Landsteiner  b. Punett   c. Correns 
d. Muller   e. Answer not known 
kdpj ,uj;j tiffisf; fz;lwpe;jth; 
a. Nyd;l;];Bdh;  b. Gd;ndl;   c. Nfhnud;]; 

d. Ky;yh;   e. tpil njhpatpy;iy 
 
15. Woolsorters disease is caused by 

a. Bacillus Anthracis  b. Bacillus Cereus   
c. Bacillus Megaterium  d. Bacillus Subtilis   
e. Answer not known 
________ ghf;Bhpahthy; fk;gsp gphpg;Nghh; Neha; cUthfpwJ. 
a. Ngrpy]; Me;j;uhrp];  b. Ngpry]; nrhpa];  

c. Ngrpy]; nkfhl;Nlhpak; d. Ngrpy]; rg;byp];   
e. tpil njhpatpy;iy 
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16. Which of the following statements are true of Leucoderma 
1. It is a non- communicable disease 
2. It is a skin disease that causes loss of skin pigmentation 
3. There is no cure 
a. 1 and 2   b. 2 and 3    c. 1 and 3 
d. 1, 2 and 3   e. Answer not known 
gpd;tUtdtw;wpy; YNfhnlh;kh my;yJ ntz;Neha; gw;wpa cz;ik fUj;J 
vit? 
1. ,J xU njhw;whj Neha; 
2. ,J Njhy; epwkp ,og;ig Vw;gLj;Jk; xU Njhy; Neha; 
3. ,e;Neha;f;F  rpfpr;ir mspf;f KbahJ 
a. 1 kw;Wk; 2  b. 2 kw;wk; 3   c. 1 kw;Wk; 3 
d. 1> 2 kw;Wk;  3  e. tpil njhpatpy;iy 

 
17. Which of the following is an example of Zoonotic disease? 

a.  Leprosy    b. Diphtheria     c.  Rabies 
d.  Amoebiasis   e.   Answer not known 
gpd;tUtdw;Ws; vJ tpyq;Ffsplk; ,Ue;J kdpjDf;F tUk; Neha;?  
a. njhONeha;  b. njhz;il milg;ghd;   c. Nugp];  
d. mkPgpahrp];   e. tpil njhpatpy;iy 
 

18. The concentration of the sodium ion is _________ than outside of the cell 
 a. lower    b. higher    c. similar 
 d. static   e. Answer not known 

Nrhbak; madpfspd; nrwpthdJ nry;Yf;F ntspapy; ,Ug;gij tpl 
________ cs;sJ.  

a. Fiwthf   b. mjpfkhf    c. rkkhf 
 d. epiyahf   e. tpil njhpatpy;iy 
 
19. What is the development and the maturation of the erythrocyte from the 

haemocytoblast is known as 
a. Erythropoiesis  b. Erythrocynin  c. Erythrocyte  
d. Haemotocyte  e. Answer not known 
fPo;f;fz;ltw;wpy; ,uj;j rptg;G mZf;fs; `pkl;Nlhgpsh];bfspypUe;J 
cUthfp Kjph;r;rp miltjw;F ngah;  
a. vhpj;jpNuhgha;rp]; b. vhpj;jpNuhirdpd;  c. vhpj;jpNuhirl;  
d. `pkl;Nlhirl;  e. tpil njhpatpy;iy 

 
20. Statement 1 : When blood comes out of the blood vessel haemostasis 

occurs. 
Statement 2 : Thrombin converts fibrinogen into fibrin. 
Statement 3 : Occurrence of blood clot within the blood vessel is known as 
Thrombosis. 
Statement 4 : Heparin present in Basophils inhibit blood clotting. 
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a. 1 wrong, 2 correct, 3 wrong, 4 correct 
b. 1 correct, 2 correct, 3 wrong, 4 wrong 
c. 1 wrong, 2 wrong, 3 correct, 4 correct 
d. 1 correct, 2 correct, 3 correct, 4 correct 
e. Answer not known 
$w;W 1 : fhak; Vw;gl;L ,uj;jk; ntspg;gLk;NghJ `PNkh];lhrpy; 
Njhd;WfpwJ. 
$w;W 2 : JNuhk;gpd;/iggphpNdh[id /iggphpdhf khw;Wfpd;wJ. 
$w;W 3 : ,uj;jf; FohapDs; ,uj;jk; ciwjy; JNuhk;Nghrp]; vdg;gLk;. 
$w;W 4 : NgNrhgpy;fspy; cs;s `pg;ghhpd; ,uj;jk; ciwjiy 
jilnra;Ak;. 
Nkw;$wg;gl;l $w;Wfs; rhpahditah vd fz;lwp. 
a. 1 jtW> 2 rhp> 3 jtW> 4 rhp  
b. 1 rhp> 2 rhp> 3 jtW> 4 jtW 
c. 1 jtW> 2 jtW> 3 rhp> 4 rhp 
d. 1 rhp> 2 rhp> 3 rhp> 4 rhp 

 e. tpil njhpatpy;iy 
 
21. The relief of Doklam, which is a trijunction of India, China and Bhutan is 

a 
a. Mountain range  b. Plateau    c. Plain  
d. Hill   e. Answer not known 
,e;jpa> rPdh kw;Wk; G+l;lhdpd; Kr;re;jpg;ghd> ‘Njhf;yhk;’ - ,d; 
epyj;Njhw;wk; 
a. kiyj; njhlh;  b. gPlG+kp    c. rkntsp 
c. Fd;W   e. tpil njhpatpy;iy 

 
22. _____ is the highest peak in the state of Maharashtra. 

a. Kalsubai   b. Kudarmukh  c. Mahabaleshwar  
d. Harishchandra  e. Answer not known 
kfhuh~;buh khepyj;jpy; mike;Js;s kpf caukhd rpfuk;  
a. fy;Rgha;   b. Flh;Kf;    c. kfhgNy];th;  
d. `hp~;re;jpuh   e. tpil njhpatpy;iy 

 
23. Which of the following statements are true about the location and extent 

of India?  
i. India is divided into almost two equal halves by tropic of cancer.  
ii. India is the second largest country of the world in area  
iii. The latitude and longitudinal extent is nearly thirty degrees.  
iv. The standard meridian of India passes through Bhopal  
a. (ii) and (iii) only   b. (i), (ii) and (iv) only c. (i) and (iii) only 
d. (i) (iii) and (iv) only  e. answer not known 
,e;jpahtpd; ,Ug;gplk; kw;Wk; gug;gsT Fwpj;Jg; gpd;tUk; $w;Wfspy; vJ 
rhpahdJ?  
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i. flf Nuifapdhy; ,e;jpah Xustpw;F ,uz;L rkg; gFjpfshfg; 
gphpf;fg;gl;Ls;sJ.  

ii. gug;gstpy; cyfpd; ,uz;lhtJ nghpa ehL ,e;jpah  
iii. ml;r kw;Wk; jPh;f;f NuiffSf;F ,ilNa cs;s ,ilntsp 

fpl;ljl;l Kg;gJ bfphp MFk;.  
iv. ,e;jpa jpl;l jPh;f;f Nuif Nghghy; topahf fle;J nry;Yk; 
a. (ii) kw;Wk; (iii) kl;Lk;  b. (i), (ii) kw;Wk; (iv) kl;Lk;  
c. (i) kw;Wk; (iii) kl;Lk;   d. (i), (iii) kw;Wk; (iv) kl;Lk;    
e. tpil njhpatpy;iy  

 
24. Match List I with List II  

List I    List II 
 A. Debsa pass  1. Uttarakhand 
 B. Lekhapani pass  2. Himachal Pradesh 
 C. Nathu La pass  3. Arunachal Pradesh 
 D. Muling La pass  4. Sikkim 
  A B C D 

a. 2 3 4 1 
b. 4 2 3 1 
c.  2 3 1 4 
d.  4 2 1 3  e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;Jf. 
gl;bay;  I     gl;bay; II 

 A. nlg;]h fztha; 1. cj;jufhz;l; 

 B. ypfhgdp fztha; 2. `pkhr;ry gpuNjrk; 
 C. ehJ yh fztha; 3. mUzhr;ry gpuNjrk; 
 D. Kypq; yh fztha; 4. rpf;fpk; 
  A B C D 

a. 2 3 4 1 
b. 4 2 3 1 
c.  2 3 1 4 
d.  4 2 1 3  e. tpil njhpatpy;iy 

 
25. Assertion (A): The desert region of India can be divided into two 

parts – “The great desert” and “the little desert”. 
Reason (R): Between these two deserts lies a zone consisting of rocky land 
and cut up by limestone ridges. 
a. A is true but R is false 
b. Both A and R are true, and R is the correct explanation of A 
c. A is false, R is true 
d. Both A and R are true, but R is not the correct explanation of A 
e. Answer not known 
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$w;W (R): ,e;jpahtpd; ghiytdg; gFjpia ,uz;L gFjpfshfg; 
gphpf;fyhk; “nghpa ghiytdk;’ kw;Wk; ‘rpwpa ghiytdk;’ 
fhuzk; (R): ,e;j ,U ghiytdq;fSf;fpilNa ghiw epyk; kw;Wk; 
Rz;zhk;Gf;fy; KfLfshy; ntl;lg;gl;l xU kz;lyk; cs;sJ.  
a. A $w;W rhp Mdhy; R fhuzk; jtW  

b. A $w;W kw;Wk; R fhuzk; ,uz;Lk; rhp> kw;Wk; A $w;Wf;fhd R 
fhuzk; rhp 

c. A $w;W jtW> R fhuzk; rhp 
d. A $w;W kw;Wk; R fhuzk; ,uz;Lk; rhp> Mdhy; A $w;Wf;fhd fhuzk; 

R jtW  
e. tpil njhpatpy;iy  

 
26. By selling an article for ì 72, there is a loss of 10%.  In order to gain 5%, its 

selling price should be: 
a. ì 87  b. ì 85  c. ì 80  d. ì 84  e. Answer not known 
xU nghUis `72f;F tpw;gid nra;tjhy; 10 tpOf;fhL el;lk; Vw;gLfpwJ.  
5 tpOf;fhL ,yhgk; ngw Ntz;Lk; vdpy;> me;jg; nghUspd; tpw;gid 
tpiy vd;dthf ,Uf;f Ntz;Lk;? 
a. ì 87  b. ì 85  c. ì 80  d. ì 84           e. tpil njhpatpy;iy 

 

27. Simplify:
16.12 16.12 16.12 13.88 13.88 13.88

16.12 16.12 16.12 13.88 13.88 13.88

  +  

 −  + 
 

a. 16.12 b. 2.24 c. 30  d. 20  e. Answer not known 

RUf;Ff: 
16.12 16.12 16.12 13.88 13.88 13.88

16.12 16.12 16.12 13.88 13.88 13.88

  +  

 −  + 
 

a. 16.12 b. 2.24 c. 30  d. 20       e. tpil njhpatpy;iy 
 
28. The Next term in the sequences 

2,5,9,19,37,………. 
a. 74  b. 75  c. 76  d. 82  e. Answer not known 
njhlh; thpirapd; mLj;j cWg;G  
2>5>9>19>37>…….. 
a. 74  b. 75  c. 76  d. 82  e. tpil njhpatpy;iy 

 
29. When 40 is subtracted from 40% of a number to give 40, the number is  

a. 60    b. 100     c. 150 
d. 200    e. Answer not Known 
Xh; vz;zpd; 40% ypUe;J 40 If; fopj;jhy; 40 fpilf;Fk; vdpy;> me;j 
vz; __________ MFk;. 
a. 60    b. 100     c. 150 
d. 200   e.  tpil njhpatpy;iy 
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30. If 
1

5x
x

+ = then the value of 
3

3

1
x

x
+ is 

a. 90  b. 110  c. 120  d. 80  e. Answer not known 
1

5x
x

+ = vdpy; 3

3

1
x

x
+ apd; kjpg;G 

a. 90  b. 110  c. 120  d. 80         e.  tpil njhpatpy;iy 
 
31. Match the following mountains with their ranges 

A. Kanchenjunga   1. Western ghats 
B. Patkai    2. Karakoram 
C. Vindhyas    3. Garo – Khasi 
D. Mahabaleshwar  4. Aravalli 
 A B C D 
a. 3 4 1 2 
b. 2 3 4 1  
c. 2 1 4 3 
d. 4 3 1 2 
e. Answer not known 
gpd;tUk; kiyfis mitfspd; kiyj; njhlh;fSld; nghUj;Jf. 
A. fQ;rd;[q;fh   1.Nkw;F njhlh;r;rp kiy 
B. gl;fha;    2.fhuNfhuk; 
C. tpe;jpak;    3.fhNuh-fh]p 

D. kfhgyP];th;   4.Muty;yp  
A B C D 

a. 3 4 1 2 
b. 2 3 4 1  
c. 2 1 4 3 
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
 
32. The place where Arasur mountain is situated? 

a. Easter Kerala   b. Eastern Gujarat   
c. Western Andhra Pradesh d. Western Tamil Nadu  
e. Answer not known 
mu#h; kiy mike;Js;s gpuNjrkhdJ 
a. fpof;F Nfush   b. fpof;F F[uhj;   

c. Nkw;F Me;jpug;gpuNjrk; d. Nkw;F jkpo;ehL   

e. tpil njhpatpy;iy 
 
33. Which of the following statements is/are wrong? 

1. India is the second largest country in Asia  
2. Areawise Seventh largest in the world  
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3. India accounts for about 2.2% of the total area of the world 
4. India shares 15200 Km long length of coast line  
5. India’s longest border is with Bangladesh  
6. India shares shortest border with Bhutan  
a. 1, 2, 5  b. 2, 5, 6     c. 3, 4, 6    
d. 1, 3, 5      e. Answer not known 
gpd;tUk; $w;Wfspy; vit jtwhdJ? 
1. ,e;jpah Mrpa fz;lj;jpd; ,uz;lhtJ ngupa ehL. 
2. gug;gstpy; cyfpd; VohtJ ngupa ehL ,e;jpah. 
3. Gtpapy; nkhj;jg; gug;gstpy; ,e;jpah 2.2% nfhz;Ls;sJ 
4. ,e;jpa 15200 fp.kP. ePsKs;s fly; vy;iyiaf; nfhz;Ls;sJ. 
5. ,e;jpah tq;fhsNjrj;Jld; ePz;l vy;iyia gfpu;fpwJ. 
6. ,e;jpah G+lhDld; kpfFWfpa vy;iyiag; gfpu;e;J nfhs;fpwJ. 
a. 1, 2, 5  b. 2, 5, 6     c. 3, 4, 6    
d. 1, 3, 5      e. tpil njhpatpy;iy 
 

34. Which of the following statements is/are correct? 
1. Himalayan Mountains are the youngest fold mountains  
2. Himalayan Mountain is known as “The roof of the world” 
3. The Pamir Knot popularly known as “The abode of Snow”. 
4. Eastern Himalayas is known as Tibetan Himalayas  
a. 1, 2, 3, 4 are correct  b. 1, 2, 3 are correct          c. Only 1, 4 are correct  
d. Only 1 is correct  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. ,kakiyj; njhlu;fs; ,sk; kbg;G kiyj; njhlu;fs; MFk;. 
2. ,kakiy “cyfpd; $iu” vd miof;fg;gLfpwJ. 
3. gkPu;Kbr;R “gdp ciwtplk;” vd miof;fg;gLfpwJ. 
4. fpof;F ,kakiyj;njhlu; “jpngj;jpad; ,kakiy” vdTk; 
miof;fg;gLfpwJ. 
a. 1>2>3>4 rup   b. 1> 2> 3 rup  c. 1> 4 kl;Lk; rup   
d. 1 kl;Lk; rup  e. tpil njhpatpy;iy 

 
35. I. The shape of Deccan Plateau is Triangle. 

II. Area of Deccan plateau covers 7 lakh square km. 
a. Both I, II are correct  b. Only I is correct   
c. Only II is correct  d. Both I, II are incorrect   
e. Answer not known 
I. jf;fhzg; gPlG+kp Kd;Nfhz tbtpy; cs;sJ. 
II. ,jd; gug;gsT 7 yl;rk; rJu fp.kP. 
a. I, II Mfpa ,uz;LNk rup b. I kl;Lk; rup   
c. II kl;Lk; rup   d. I, II Mfpa ,uz;LNk jtW  

e. tpil njhpatpy;iy 
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36. Mohenjadaro is situated in the district of  
a. Punjab   b. Larkhana    c. Bavalpur  
d. Gujarat   e. Answer not known 
nkhfQ;rjhNuh ve;j khtl;lj;jpy; cs;sJ? 
a. gQ;rhg;   b. yh;f;fhdh    c. ghty;G+h;  
d. F[uhj;   e. tpil njhpatpy;iy 

 

37. Which among the following script is not yet deciphered? 
a. Kharosthi script  b. Brahmi Script  c. Aramaic  
d. Harappan Script e. Answer not known 
ve;j vOj;Jfs; ,Jtiu thrpf;f ,ayhjJ?  
a. fNuh~;jp vOj;J b. gpuhkp vOj;J   c. muNkaf; vOj;J 
d. `ug;gh vOj;J  e. tpil njhpatpy;iy 
 

38. Indus people had a close relationship with nature and they worshipped 
which tree? 
a. Pipal tree   b. Ashoka tree   c. Neem tree 
d. Mango tree  e. Answer not known 
rpe;Jntsp kf;fs; ,aw;ifia tzq;fpdhh;fs; mth;fs; ve;j kuj;ij 
topgl;lh;fs;? 
a. mur kuk;   b. mNrhf kuk;   c. Ntg;gkuk; 
 d. kh kuk;    e. tpil njhpatpy;iy 

 
39. The only site of the Indus Valley which had no citadel? 

a. Chanhudaro  b. Lothal    c. Kalibangan 
d. Rangpur   e. Answer not known  
Nfhl;il ,y;yhj xNu rpe;Jrkntsp efuk; vJ? 
a. rhd;FjhNuh  b. Nyhj;jy;    c. fypgq;fd; 
d. uq;G+h;   e. tpil njhpatpy;iy 

 
40. Match the following: 

Indus Sites    Excavated by 
A. Chanhu-Daro   1. Suraj Bhan 
B. Lothal    2. N. G. Majumdar 
C. Banavali    3. S. R. Rao 
D. Mitathal    4. Bisht  
 A B C D 
a.  2 1 4 3 
b.  2 3 4 1 
c.  1 3 2 4 
d.  1 4 3 2 
e. Answer not known 
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nghUj;Jf: 
rpe;J rkntsp efuq;fs;  mfo;thuha;r;rpahsh; 
A. rd;`_-jhNuh   1. #u[; ghd; 
B. Nyhj;jy;    2. vd;.[p. k[_k;jhh; 

C. gdhtsp    3. v];.Mh;. uht; 
D. kpl;lhjy;    4. gp~;l; 

A B C D 
a.  2 1 4 3 
b.  2 3 4 1 
c.  1 3 2 4 
d.  1 4 3 2 
e. tpil njhpatpy;iy 

 

41. Consider the statements and choose the correct option. 
I. B.N. Rau was appointed as advisor to the constituent assembly. 
II. 64 lakhs was spent to frame the constitution. 
III. Original constitution is preserved in Helium cases, kept in the 

library of Parliament of India. 
IV. Original constitution had 395 articles in 22 parts and 8 schedules. 
a. I only   b. I, II and III only   c. I and II only 
d. All the above  e. Answer not known 
fPo;f;nfhLf;;fg;gl;l tptuq;fspy; cz;ikahd jfty;fis fz;lwpe;J 
Fwpg;gplTk;.  
I. B.N. uht; rl;lkd;w MNyhrfuhf epaf;fg;gl;Ls;shh;. 
II. murpay; eph;zar;rl;lk; cUthf;f 64 yl;rk; nrythdJ 
III. murpay; mikg;Gr; rl;lj;jpd; %yg;gpujp `Pypak; ngl;bapy; itj;J> 

ehlhSkd;w E}yfj;jpy; ghJfhf;fg;gLfpwJ. 
IV. murpay; eph;zar; rl;lj;jpd; %yg; gpujpapy; 395 gphpT 22 gFjpfs; 8 

ml;ltizfs; ,Ue;jd.  
a. I kl;Lk;   b. I, II kw;Wk; III kl;Lk; c. I kw;Wk; II kl;Lk; 
d. midj;Jk; rhp   e. tpil njhpatpy;iy 
 

42. The design of the National flag was adopted by the constituent Assembly 
of India on 
a. 20 June 1947  b. 22 July 1947  c. 21 August 1947 
d. 23 November 1947 e. Answer not known 
Njrpa nfhbapd; tbtikg;G ,e;jpa murpay; eph;zar; rigahy; ________ 
md;W Vw;Wf; nfhs;sg;gl;lJ. 
a. 20 [_d; 1947  b. 22 [_iy 1947  c. 21 Mf];L 1947 

d. 23 etk;gh; 1947  e. tpil njhpatpy;iy 
 

43. As per our Indian Constitution languages comes under 
a. Eighth schedule  b. Seventh schedule  
c. Sixth schedule  d. Fifth schedule    
e. Answer not known 
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ekJ ,e;jpa murpayikg;gpd;gb nkhopfs; _________ fPo; tUfpd;wJ 
a. vl;lhtJ ml;ltiz  b. VohtJ ml;ltiz  
c. MwhtJ ml;ltiz  d. Ie;jhtJ ml;ltiz   

e. tpil njhpatpy;iy 
 
44. The Act of _______ introduced separate electorates for Muslims. 

a. 1919 b. 1935 c. 1947 d. 1909  e. Answer not known 
________ Mz;L rl;lk; ,];yhkpaUf;nfd jdp gpujpepjpj;Jtj;ij 
mwpKfk; nra;jJ. 
a. 1919 b. 1935 c. 1947 d. 1909  e. tpil njhpatpy;iy 

 
45. The time taken for the Constituent Assembly to finalize the Constitution 

of India 
a. 2 Years, 11 months, 18 days   b. 2 Years, 9 months, 8 days 
c. 2 years, 7 months, 18 days   d. 2 years, 5 months, 20 days 
e. Answer not known 
,e;jpa murpayikg;ig cUthf;f tiuTf;FO vLj;Jf;nfhz;l fhyk;  
a. 2 Mz;Lfs;, 11 khjk;> 18 ehs;   b. 2 Mz;Lfs;, 9 khjk;, 8 ehs;  
c. 2 Mz;Lfs;, 7 khjk;, 18 ehs;   d. 2 Mz;Lfs;, 5 khjk;, 20 ehs; 
e. tpil njhpatpy;iy 

 

46. Who was the Chairman of the Drafting Committee of the Indian 
Constitution? 
a. Dr. B.R. Ambedkar   b. Rajendra Prasad    
c. Jawaharlal Nehru  d. None of the above    
e. Answer not known 
,e;jpa murpayikg;G tiuTf; FOtpd; jiyth; ahh;? 
a. lhf;lh;. B.R. mk;Ngj;fhh; b. ,uhN[e;jpu gpurhj;       
c. [t`h;yhy; NeU  d. Nkw;$wpatw;Ws; vtUkpy;iy   
e. tpil njhpatpy;iy 

 

47. Need for a constitution for free India was first suggested by 
a. Motilal Nehru  b. M.N. Roy  c. Subash Chandra Bose 
d. Mahatma Gandhi e. Answer not known 
Rje;jpu ,e;jpahtpw;F Xh; murikg;Gr; rl;lk; Ntz;Lk; vd Kjypy; 
ghpe;Jiuj;jth; 
a. Nkhjpyhy; NeU  b. M.N. uha;   c. Rgh~; re;jpuNgh]; 

d. kfhj;kh fhe;jp  e. tpil njhpatpy;iy 
 

48. Match the following:  
A. Pitt’s India Act, 1784  1. Decentralization of the Legislative 

powers of Governor General  
B. Charter Act, 1813   2. Governor – General’s Government  

was known as Government of India for the 
first time  
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C. Charter Act, 1833 3. Appointment of Board of control of six 
members  

D. Indian councils Act, 1861  4. Deprivation of East India company’s  
monopoly of trade in India  

A B C D 
a.  1 2 3 4 
b. 3 4 2 1  
c. 4 3 2 1  
d. 1 3 2 4  e. Answer not known  
fPo;f;fz;ltw;iwg; nghUj;Jf:  
A. gpl; ,e;jpar; rl;;lk;> 1784  1. fth;dh; - n[duypd; rl;lkpaw;Wk; 

mjpfhuq;fis mjpfhug; gutyhf;fk; 
nra;jy; 

B. rhrdr; rl;lk;> 1813 2. Kjd; Kiwahf fth;dh; - 
n[duypd;  
murhq;fk; ‘,e;jpa murhq;fk;’ vd 
miof;fg;gl;lJ  

C. rhrdr; rl;lk;> 1833   3. MW cWg;gpdh;fisf; nfhz;l  
fl;Lg;ghl;L thhpak; epakpf;fg;gLjy;   

D. ,e;jpaf; fTd;rpy; rl;lk;> 1861  4. ,e;jpahtpy; fpof;fpe;jpaf;  
fk;ngdpapd; th;j;jf Kw;Whpikiaf; 
Fiwj;jy;  

A B C D 
a.  1 2 3 4 
b. 3 4 2 1  
c. 4 3 2 1  
d. 1 3 2 4  e. tpil njhpatpy;iy 
 

49. The secretary of the state for India in England used to be paid out of the 
Indian revenues. When it was stopped? 
a. 1919 b. 1909 c. 1935 d. 1947 e. Answer not known 
ePz;l fhykhf ,q;fpyhe;jpYs;s ,e;jpa nrayUf;F ,e;jpa 
tUthapypUe;J Cjpak; nrYj;jptug;gl;lJ. vg;nghOJ mJ epWj;jg;gl;lJ? 
a. 1919 b. 1909 c. 1935 d. 1947        e. tpil njupatpy;iy 

 
50. Which of the following are the limitations on the sovereignty of the Indian 

Parliament? 
1. Fundamental Rights   2. Judicial Review 
3. Federalism    4. Written Constitution 
a. 1, 3 and 4   b. 1, 2 and 3     c. 1 and 2 
d. 1, 2, 3, and 4  e. Answer not known 
fPo; nrhy;yg;gl;Ls;stw;Ws; ,e;jpa ghuhSkd;wj;jpd; ,iwahz;ikf;F 
cs;s tuk;Gfs; 
1. mbg;gil chpikfs;  2. ePjpg;Gzuha;T 
3. $l;lhl;rp    4. vOjg;gl;l murpayikg;G 
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a. 1> 3 kw;Wk; 4  b. 1> 2 kw;Wk; 3   c. 1 kw;Wk; 2 
d. 1> 2> 3 kw;Wk; 4 e. tpil njhpatpy;iy 

 
51. Match the following:   

A. USA Constitution  1. Removal of supreme court Judges 
B. Weimar constitution of 2. Suspension of Fundamental Rights 
Germany    during Emergency 
C. British constitution  3. Single citizenship 
D. Irish constitution  4. Nomination of members to rajyasabha 
 fPo;fz;ltw;iwg; nghUj;Jf:  
A. mnkhpf;f murpay; rhrdk;  1. cr;rePjpkd;w ePjpgjpfis  

gjtpapypUe;J ePf;Fk; Kiw     
B. n[h;kdpapd; nta;kh;   2. neUf;fb fhyj;jpy; mbg;gil murpay; 
rhrdk;    chpikfis epWj;jpitj;jy;  
C. gphpl;B~; murpay; rhrdk; 3. xw;iw FbAhpik  
D. Ihp~; murpay; rhrdk; 4. ghuhSkd;wj;jpd; Nkyitf;F  

gpujpepjpfs; epakdk;  
A     B  C D   

a.  l 2 3 4  
b.    2 4 3 1  
c.    3 1 4 2  
d.     4 3 2 1 e.    tpil njhpatpy;iy 

 
52. Who among the following was the Cabinet Minister without portfolio in 

the first ministry of Independent India? 
a. C. Rajagopalachari    b. T.T. Krishnamachari 
c. N. Gopalaswami Ayyangar   d. G.L. Nanda 
e. Answer not known 
Rje;jpu ,e;jpahtpd; Kjy; mikr;ruitapy; fPo;tUgth;fSs; ,yhfh 
,y;yhj kj;jpa mikr;ruhf ,Ue;jth; ahh;?  
a. C. uh[Nfhghyhr;rhhp     b. T.T. fpU~;zkhr;rhhp 
c. N. Nfhghyrhkp Iaq;fhh;   d. G.K. ee;jh 
e. tpil njhpatpy;iy 

 
53. Choose the right answer about the constituent assembly 

i. 15 Women members were there in the constituent assembly 
ii. H.V.R. Iyengar was the the secretary of the constituent assembly. 
a. i only     b. ii only    c. i and ii   
d. None of the above  e. Answer not known  
murpay; eph;za rigiag; nghWj;J rhpahd tpilfisj; Njh;T nra;f. 
i. murpay; eph;za rigapy; 15 ngz; cWg;gpdh;fs; ,Ue;jdh; 
ii. murpay; eph;za rigapd; nrayuhf HVR Iaq;fhu; nray;gl;lhh; 
a. i kl;Lk;    b. ii kl;Lk;   c. i kw;Wk; ii 
d. Nkw;$wpa vJTkpy;iy e. tpil njhpatpy;iy 
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54. Match the following: 
A. State     1. Dicey  
B. Sovereignty    2. Machiavelli 
C. Separation of Powers    3. Bodin 
D. Rule of Law    4. Montesquieu  
 A B C D 
a. 2 3 1 4 
b. 2 1 3 4 
c. 2 3 4 1 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf :  
A.  muR     1. il]p 
B. ,iwahz;ik    2. khf;fpaty;yp 
C. mjpfhu gphptpid   3. Nghbd;  
D. rl;lj;jpd; Ml;rp   4. khz;nl];fpA 
 A B C D 
a. 2 3 1 4 
b. 2 1 3 4 
c. 2 3 4 1 
d. 1 3 2 4 
e. tpil njhpatpy;iy 

 
55. The doctrine “Basic Features” of Indian constitution was propounded in 

the judgement of  
a. Krishna Swami V. Union of India, 1992 
b. Kesavananda Bharati V. Union of India, 1973 
c. S.R. Bommai V. Union of India, 1994 
d. Kuldip Nayar V. Union of India, 2006 
e. Answer not known 
,e;jpa murpayikg;Gr; rhrdj;jpd; “mbg;gilf; $Wfs;” vDk; Nfhl;ghL 
ve;j tof;fpd; jPh;g;gpy; cUthf;fg;gl;lJ?  
a. fpU~;zRthkp V. ,e;jpa xd;wpak;> 1992  
b. Nfrthde;j ghujp V. ,e;jpa xd;wpak;> 1973 
c. v];.Mh;. nghk;ik V. ,e;jpa xd;wpak;. 1994 
d. Fy;jPg; ehah; V. ,e;jpa xd;wpak;> 2006 
e. tpil njhpatpy;iy 

 
56. A television set was sold for ` 1,170 after giving successive discounts of 

35% and 10% respectively. What was the marked price? 
a. 1800  b. 1700    c. 2000   
d. 1900  e. Answer not known 
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njhlh; js;Sgbfs; KiwNa 35% kw;Wk; 10% vd;wthW xU 
njhiyf;fhl;rpg; ngl;b &.1>170f;F tpw;fg;gl;lJ vdpy;> mjd; Fwpj;j tpiy 
vd;d? 
a. 1800 b. 1700 c. 2000 d. 1900 e.  tpil njhpatpy;iy 

 

57. Which of the following numbers is divisible by 9?  
 a. 58543  b. 56152  c. 49689  d. 89917 e. Answer not known 
 fPNo nfhLf;fg;gl;Ls;s vz;fspy; 9My; tFgLk; vz; ahJ? 
 a. 58543  b. 56152  c. 49689  d. 89917 e.  tpil njhpatpy;iy 
 

58. In an examination A got 25% marks more than B. B got 10% less than C 
and C got 25% more than D. If D got 320 marks out of 500. Find the marks 
obtained by A. 
a. 405  b. 450  c. 360  d. 400  e. Answer not known 
xU Njh;tpy; A vd;gth; Bia tpl 25% kjpg;ngz;fs; mjpfk; ngw;Ws;shh;. 
B vd;gth; Cia tpl 10% Fiwthf ngw;Ws;shh;. C vd;gth; Dia tpl 
25% kjpg;ngz;fs; mjpfk; ngw;Ws;shh;. D vd;gth; nkhj;j kjpg;ngz;fs; 
500 f;F 320 ngw;Ws;shh; vdpy; A vd;gth; ngw;w kjpg;ngz;fs; vt;tsT? 
a. 405  b. 450  c. 360  d. 400           e. tpil njhpatpy;iy 

 

59. A dealer allows a discount of 10% and still gains 10%. What is the cost 
price of the book which is marked at Rs. 220? 
a. Rs. 120 b. Rs. 150 c. Rs. 180 d. Rs. 220 e. Answer not known 
xU Gj;jfj;jpd; tpiyapy; 10% js;Sgb nra;jhYk; xU tpahghhpf;F 10% 

,yhgk; fpilf;fpwJ. mg;Gj;jfj;jpd; Fwpj;j tpiy Rs. 220 vdpy; mjd; 
mlf;ftpiy ahJ? 
a. Rs. 120 b. Rs. 150 c. Rs. 180 d. Rs. 220 e. tpil njupatpy;iy 

 

60. Simplify: 
1 1 1 3 1

1
2 2 4 4 2

     
−  −  − =     

     
 

a. 
1

2
  b. 

3

4
  c. 

1

4
  d. 

1

2

−
  e. Answer not known 

RUf;Ff: 
1 1 1 3 1

1
2 2 4 4 2

     
−  −  − =     

     
 

a. 
1

2
  b. 

3

4
  c. 

1

4
  d. 

1

2

−
  e. tpil njhpatpy;iy 

 

61. Which act empowered the constituent Assembly as a fully ‘Sovereign 
body’? 
a. Government of India Act of 1919 
b. Indian independence Act of 1947 
c. Government of India Act of 1935 
d. Indian Councils Act of 1909 
e. Answer not known 
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murikg;G mit KOikahd ,iwahz;ik tha;e;jJ vd;W ve;j rl;lk; 
$wpaJ 
a. 1919 – Mk; Mz;bd; ,e;jpa muRr;rl;lk; 
b. 1947 – Mk; Mz;bd; ,e;jpa Rje;jpur;rl;lk; 

c. 1935 – Mk; Mz;bd; ,e;jpa muRr;rl;lk; 
d.1909 – Mk; Mz;bd; ,e;jpa fTd;rpy; rl;lk; 
e. tpil njhpatpy;iy 

 
62. Which of the following is/are not the elements of the state? 

1. Population 2. Territory  3. Citizenship 4. Sovereignty 
a. 1  b. 2  c. 3  d. 4  e. Answer not known 
gpd;tUtdtw;Ws; vJ/vit murpd; $Wfs; my;y? 

 
1. kf;fs;njhif  2. epyg;gFjp 
3. FbAhpik   4. ,iwahz;ik 
a. 1  b. 2  c. 3  d. 4 e. tpil njhpatpy;iy 

 
63. The distribution of powers between the centre and the states in the Indian 

constitution is based on 
a. Minto Morely reforms, 1909  b. Montegu Chelmsford Act 1919 
c. Government of India Act 1935 d. Indian Independence Act 1947 
e. Answer not known 
,e;jpa murikg;gpy; kj;jpa kw;Wk; khepyq;fSf;fpilNaahd mjpfhu 
gq;fPL ve;j rl;lj;jpd; mbg;gilapy; toq;fg;gl;Ls;sJ? 
a. kpz;Nlh khh;yp rPh;jpUj;jq;fs;> 1909 b. khz;NlF nrk;];Nghh;L rl;lk; 1919 

c. ,e;jpa murhq;f rl;lk;> 1935  d. ,e;jpa Rje;jpu rl;lk;> 1947 
e. tpil njhpatpy;iy 

 
64. Match the following: 
 Schedule    Subject 

A. First Schedule 1. Division of powers between union and 
states 

B. Eleventh Schedule  2. Anti-Defection Laws 
C. Seventh Schedule  3. Names of states and union territories 
D. Tenth Schedule   4. Panchayats 

A B C D 
a. 3 4 1 2 
b. 1 3 4 2 
c. 2 1 3 4 
d.  3 1 4 2 e. Answer not known 
fPo;f;fz;ltw;iw nghUj;Jf. 
gl;bay;    nghUs; 
A. Kjy; gl;bay;   1. kj;jpa muR kw;Wk; khepyq;fs;  

,ilNaahd  mjpfhu gfph;T 
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B. gjpndhd;whk; gl;bay;  2. fl;rpj;jhty; jilr;rl;lk; 

C. Vohk; gl;bay;   3. khepyq;fs; kw;Wk; a+dpad;   
     gpuNjrq;fspd; ngah; 
D. gj;jhk; gl;bay;   4. gQ;rhaj;J  

A B C D 
a. 3 4 1 2 
b. 1 3 4 2 
c. 2 1 3 4 
d. 3 1 4 2 e. tpil njhpatpy;iy 

 

65. Which one of the following is NOT an item in the 11th schedule of the 
Indian constitution? 
a. Social forestry    b. Health and sanitation 
c. Public distribution system d. Prevention of cruelty to animals 
e. Answer not known 
fPo;f;fz;ltw;wpy; ,e;jpa murpayikg;gpd; 11 tJ ml;ltizapy; ,y;yhj 
ruj;J vJ? 
a. r%ff; fhLfs;   b. cly; eyk; kw;Wk; Rfhjhuk; 

c. nghJ tpepNahf Kiw  d. tpyq;F tijgLjiyj; jilnra;jy; 
e. tpil njhpatpy;iy 

 

66. Assertion (A): Dadabai Naoroji organized the East India Association in 
London 
Reason     (R): He wanted to influence the British Public opinion 
a. (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W  (A): jhjhgha; nesNuh[p fpof;fpe;jpaf; fofj;ij yz;ldpy; 
cUthf;fpdhh; 
fhuzk; (R): gphpl;b~; nghJkf;fs; fUj;jpd; kPJ nry;thf;F Vw;gLj;j 
tpUk;gpdhh;. 
a. (A) kw;Wk; (R) rhp. kw;Wk;> (R) (A)f;fhd rhpahd tpsf;fk; 
b. (A)  rhp Mdhy; (R) jtW  
c. (A) jtW. Mdhy; (R) rhp 
d. (A)kw;Wk; (R) rhp kw;Wk; (R) (A)f;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 

67. Which Governor under British Rule is called as a ‘Continental Emperor’? 
a. Curzon   b. Duplex   c. Robert Clive 
d. Warren Hastings e. Answer not known 
ve;j MSeh; gphpl;b~; Ml;rpapd; fPo; ‘fz;l Nguurh;’ vd;W miof;fg;gl;lhh;? 
a. fh;rd;   c. bA+g;Ns   c. uhgh;l; fpist; 
d. thud; N`];bq;]; e. tpil njhpatpy;iy 
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68. Which of the following is not associated with Gopal Krishna Gokhale? 
a. Monthly Magazine, ‘Voice of India’    b. Ranade institute of economies  
c. Servants of India Society         d. None of these 
e. Answer not known 
gpd;tUtdtw;wpy; Nfhghy fpU~;z NfhfNyTld; njhlh;G ,y;yhjJ vJ? 
a. khj ,jo;> ‘,e;jpahtpd; Fuy;’ b. udNl nghUshjhu epWtdk; 
c. ,e;jpa Copah; rq;fk;   d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 

 
69. In which of the two years did Subash Chandra Bose was elected as the 

president of the Indian National congress. 
a. 1938 and 1939  b. 1940 and 1941  c. 1942 and 1943 
d. 1944 and 1945  e. Answer not known 
Rgh~; re;jpu Ngh]; ,UKiw ,e;jpa Njrpa fhq;fpuRf;F jiytuhf 
Njh;e;njLf;fg;gl;l Mz;Lfs; 
a. 1938 kw;Wk; 1939  b. 1940 kw;Wk; 1941  c. 1942 kw;Wk; 1943 
d. 1944 kw;Wk; 1945 e. tpil njhpatpy;iy 

 

70. Which of the following statements about the early years of the Indian 
National Congress is not true? 
a. Indian National Congress was founded in 1885. 
b. Promotion of national unity was its major objective. 
c. It demanded independence from the British 
d. It strived to create a common political platform. 
e. Answer not known 
,e;jpa Njrpa fhq;fpu]pd; muk;g fhyj;ijg; gw;wpa gpd;tUk; $w;Wfspy; 
vJ rhpahdJ my;y? 
a. 1885y; ,e;jpa Njrpa fhq;fpu]; Jtq;fg;gl;lJ 
b. Njrpa xUikg;ghl;il tsh;g;gJ mjd; Kf;fpa nfhs;ifahFk; 
c. mJ Mq;fpNyah;fsplk; tpLjiyia NfhhpaJ 
d. mJ xU xUq;fpize;j murpay; fsk; cUthf;fg;ghLgl;lJ 
e. tpil njhpatpy;iy 

 

71. Which of the following statements are true about Alan Octvian Hume? 
(i) The father of Indian National Congress 
(ii) An eminent Economist 
(iii) President of the Lahore Session in 1893 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only  
d. (ii) and (iii) only e. Answer not known 
Myd; Mf;Nltpad; `pA+k; gw;wpa $w;Wfspy; vJ cz;ik? 
(i) ,e;jpa Njrpa fhq;fpu]pd; je;ij 
(ii) xU rpwe;j nghUshjhu epGzh; 
(iii) 1893 ,y; yh$h; mkh;tpd; jiyth; 
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk; c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
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72. The third session of the Indian National Congress was presided by 
a. A.O. Hume  b. Annie Besant  c. Fakruddin Dyabji 
d. Dadabhai Naoroji e. Answer not known 
%d;whtJ ,e;jpa Njrpa fhq;fpu]; khehL _______ jiyikapy; 
eilngw;wJ. 
a. A.O. `PA+k;  b. md;dp ngrd;l;  c. gf;&jpd; jpahg;[p 
d. jhjhgha; nesNuh[p e. tpil njhpatpy;iy 

 
73. In which session did congress declare complete Independence (Purna 

Swaraj) as their goal? 
a. Lahore session 1929  b. Calcutta Session 1929   
c. Lucknow session 1932  d. Delhi session 1932  
e. Answer not known 
ve;j fhq;fpu]; mkh;tpy; KO Rje;jpuj;ij (G+h;z ];tuh[;) jdJ 
Fwpf;Nfhshf mwptpj;jJ? 
a. 1929 yh$h; mkh;T   b. 1929 fy;fj;jh mkh;T   

c. 1932 yf;Ndh mkh;T  d. 1932 nly;yp mkh;T  

e. tpil njhpatpy;iy 
 
74. Who was the founder of the Deccan Education Society (1884)? 

a. M.G. Ranade  b. Devendranath Tagore  c. Jyotiba Phule  
d. Ayyankali   e. Answer not known 
ahh; jf;fhzf; fy;tpf;fofk; (1884) mikg;ig epWtpdhh;?  
a. M.G. uhdNl  b. NjNte;jpuehj; jh$h;  c. N[hjpgh G+Ny 
d. ma;ad;fhsp   e. tpil njhpatpy;iy 

 
75. Victoria Memorial Hall at Calcutta was constructed during the regime of 

a. Ripon   b. Elgin   c. Curzon 
d. Hardinge   e. Answer not known 
fy;fj;jhtpy; cs;s tpf;Nlhhpah epidT kz;lgk; ahh; Ml;rp fhyj;jpy; 
fl;lg;gl;lJ? 
a. hpg;gd;    b. vy;[pd;    c. fh;rd;  
d. `hh;bQ;    e. tpil njhpatpy;iy 

 
76. Who repealed the Vernacular Press Act and earned much popularity 

among India? 
a. Lord Curzon  b. Lord Ripon  c. Lord Lytton 
d. Lord Mayo  e. Answer not known 
ehl;L nkhop nra;jpj;jhs; rl;lj;ij uj;J nra;J ,e;jpa kf;fspilNa 
ngUk; Gfo; ngw;wth;. 
a. fh;rd; gpuG  b. hpg;gd; gpuG  c. ypl;ld; gpuG  
d. NkNah gpuG  e. tpil njhpatpy;iy 
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77. In 1861, the Indian Civil Service Act was passed by whom? 
a. Warren Hastings   b. Canning    c. Wellesley   
d. William Bentinck  e. Answer not known 
1861-k; Mz;by; ‘,e;jpa Fbikg; gzp;’ rl;lj;ij nfhz;L te;jth; ahh;? 
a. thud; N`h];bq;];   b. fhdpq;    c. nty;ny];yp  

d. tpy;ypak; ngz;bq;    e. tpil njhpatpy;iy 
 
78. Match List I with List II: 

List I        List II 
A. India Councils Act of 1861    1. Lansdowne 
B. Royal Titles Act of 1876    2. Rippon 
C. Factory Act of 1881     3. Canning 
D. Indian Councils Act of 1892    4. Lytton 

A B C D 
a. 1 3 2 4 
b. 3 4 2 1 
c. 1 2 4 3  
d. 3 1 4 2  e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;Jf. 
gl;bay; I        gl;bay; II 
A. ,e;jpaf; fTd;rpy; rl;lk; 1861   1. Nyd;];Nlhd;  
B. ,e;jpa RNjr muR ngah; rpwg;G rl;lk; 1876 2. Hpg;gd;  

C. njhopw;rhiyr; rl;lk; 1881    3. fhdpq;  
D. ,e;jpa fTd;rpy; rl;lk; 1892      4. ypl;ld;  

A B C D 
a. 1 3 2 4 
b. 3 4 2 1 
c. 1 2 4 3  
d. 3 1 4 2  e. tpil njhpatpy;iy 

 

79. Match the following: 
A. Al-Beruni   1. Tabaqat – i – Nasiri 
B. Minhaj – us – siraj  2. Mifta – ul – Futuh 
C. Ziauddin Barani  3. Tarikh – Al – Hind 
D. Amir khusrau   4. Tarikh – i – firoz shahi 

A B C D 
a.  1 3 2 4 
b.  4 2 3 1 
c.  3 2 4 1 
d.  3 1 4 2 
e. Answer not known 
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nghUj;Jf. 
A. my; - ngUdp   1. jgfj; - , - erphp 

B. kpd; `[; c]; rpuh[;  2. kp/g;jh cy; /GJ} 

C. [pahTj;jpd; ghudp  3. jhhpf; - my; - `pe;j; 
D. mkph; F];U   4. jhhpf; - , - ngNuh]; ~h`p 
  A B C D 
a.  1 3 2 4 
b.  4 2 3 1 
c.  3 2 4 1 
d.  3 1 4 2 
e. tpil njhpatpy;iy 

 
80. Who was the true disciple of MG Ranade? 

a. Tilak  b. Gokale    c. Gandhi   
d. B.C.Pal  e. Answer not known 
MG uhdNlapd; cz;ikahd rPlh; ahh;?  
a. jpyfh;  b. NfhfNy    c. fhe;jp   
d. B.C. ghy;  e. tpil njhpatpy;iy 

 
81. Dyarchy in the provinces was abolished by the 
  a. Indian Council Act, 1909   b. Government of India Act, 1919 
  c. Government of India Act, 1935 d. Indian Independence Act, 1947  
  e. Answer not known 
  khfhzq;fspy; ,ul;ilahl;rp vjd; %yk; xopf;fg;gl;lJ? 
  a. ,e;jpa fTd;rpy; rl;lk;> 1909  b. ,e;jpa muRr;rl;lk;> 1919 
  c. ,e;jpa muRr;rl;lk;> 1935  d. ,e;jpa tpLjiyr;rl;lk;> 1947 
  tpil njhpatpy;iy 
 
82. How many delegates attended the 1st meeting of the Indian National 

Congress? 
a. 72  b. 78  c. 75  d. 70  e. Answer not known 
KjyhtJ ,e;jpa Njrpa fhq;fpu]; khehl;by; fye;J nfhz;l gpujpepjpfs; 
vj;jid Ngh;? 
a. 72  b. 78  c. 75  d. 70  e. tpil njhpatpy;iy 

 
83. On which of the following sessions of INC the resolution on Fundamental 

Rights and Duties were adopted? 
a. Lahore Session  b. Bombay Session  c. Karachi Session  
d. None   e. Answer not known 
,e;jpa Njrpa fhq;fpu]pd; ve;j mku;tpy; mbg;gil cupikfs; kw;Wk; 
flikfspy; xU jPu;khdj;ij epiwNtw;wpaJ? 
a. yh$u; mku;T  b. ghk;Ng mku;T  c. fuhr;rp mku;T  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
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84. In which year did the Moderates and the extremist unite once again? 

a. 1911 b. 1912 c. 1916 d. 1920  e. Answer not known 
kpjthjpfs; kw;Wk; jPtputhjpfs; kPz;Lk; ,ize;jJ vg;nghOJ? 
a. 1911 b. 1912 c. 1916 d. 1920        e. tpil njhpatpy;iy 

 
85. Who chaired the Nagpur session of the INC held in December 1920? 

a. Gandhi     b. Jawaharlal Nehru c. Annie Besant    
d. C. Vijayaragavachariar e. Answer not known 
1920 brk;gh; khjk; ehf;G+hpy; ele;j INC mkh;tpy; jiyikNaw;wth; ahh;?  

a. fhe;jp    b. [t`h;yhy; NeU  c. md;dp ngrd;l; 

d. C. tp[auhfthr;rhhpahh;  e. tpil njhpatpy;iy 
  
86. Find out the odd number in the series given  

5, 6, 10, 20, 35, 60, 96 
 a. 6  b. 10  c. 20  d. 35  e. Answer not known 

gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
5, 6, 10, 20, 35, 60, 96 

 a. 6  b. 10  c. 20  d. 35  e.  tpil njhpatpy;iy 
 

87. What percent of a day is 3 hours? 

a. 
1

12 %
2

 b. 
2

16 %
3

 c. 
2

18 %
3

 d. 
1

22 %
2

 e. Answer not known 

xU ehspy; 3 kzp Neuj;jpw;fhd rjtPjk; vt;tsT? 

a. 
1

12 %
2

 b. 
2

16 %
3

 c. 
2

18 %
3

 d. 
1

22 %
2

 e.  tpil njhpatpy;iy 

 
88. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He 

then sells it after allowing a discount of 20%. Find the profit percent. 
a. 5%  b. 4½ % c. 4%   d. 6%  e. Answer not known 
xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd; 
mlf;ftpiyf;F Nky; 30% Fwpj;j tpiyf;F 20% js;Sgb nfhLf;fpwhh;. 

tpw;w tpiyapd; yhgk; % vd;d? 

a. 5%  b. 4 ½ % c. 4%  d. 6%       e.  tpil njhpatpy;iy 
 

89. Find the value of 
74 44 22 5 16+ + + +

 
a. 5  b. 7  c. 6  d. 9  e. Answer not known 

74 44 22 5 16+ + + +  apd; kjpg;ig fhz; 

a. 5  b. 7  c. 6  d. 9        e.  tpil njhpatpy;iy 
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90. If the sum of a number and its square is 182. What is the number? 
a. 15  b. 26  c. 28  d. 13  e. Answer not known 
xU vz;Zld; mjd; th;f;fj;ijf; $l;bdhy; 182 fpilf;fpwJ vdpy; me;j 
vz; ahJ? 
a. 15  b. 26  c. 28  d. 13        e.  tpil njhpatpy;iy 

 
91. Which of the following statements are true about Ramalinga Adigal? 

i. He started the Samarasa Suddha Sanmarga Satya Sangam in 1865. 
ii. He was against caste system 
iii. He established Satya Dharma Salai in 1867 
a. i  is true    b. i and iii are true  c. i, ii and iii are true 
d. i and ii are true  e. Answer not known 
gpd;tUtdtw;Ws; ,uhkypq;f mbfs; gw;wpa cz;ikahd $w;W vJ? 
i. ,uhkypq;f mbfs; rkur Rj;j rd;khh;f;f rj;a rq;fj;ij 1865-y; 

Muk;gpj;jhh; 
ii. ,uhkypq;f mbfs; [hjpa Kiwf;F vjpuhdth; 
iii. ,uhkypq;f mbfs; 1867-y; rj;a jh;k rhiyia epWtpdhh; 
a. i kl;Lk; cz;ikahdJ b. i kw;Wk; iii kl;Lk; cz;ikahdJ 
c. i, ii kw;Wk; iii cz;ikahdJ d. i kw;Wk; ii kl;Lk; cz;ikahdJ 

e. tpil njhpatpy;iy 
 
92. Which of the following are correctly paired? 

1. Nizhal Thaankalgal     - Vaigunda Swamigal 
2. Hindu Progressive Improvement Society - Rajaram Mohan Roy 
3. Samarasa Sanmarka Sangam   - Vallalar 
4. Self respect Morality     - Vedanayagam Pillai 
a. 1 and 3   b. 1 and 2    c. 1 only 
d. 1, 2 and 4   e. Answer not known 
rhpahfg; nghUj;jg;gl;l N[hbfisj; Njh;e;njLf;fTk; 
epoy; jhq;fy;fs;     - itFz;l Rthkpfs; 
,e;J Kw;Nghf;F Kd;Ndw;w rq;fk;  - uh[huhk; Nkhfd; uha; 
rkur rd;khh;f;f rq;fk;    - ts;syhh; 
Rakhpahij ,af;fk;    - Ntjehafk; gps;is 
a. 1 kw;Wk; 3  b. 1 kw;Wk; 2   c. 1 kl;Lk; 
d. 1> 2 kw;Wk; 4  e. tpil njhpatpy;iy 

 
93. In 1898, the widow’s home in Madras was founded by  

a. Veerasalingam pantulu b. G. Subramani   
c. Kaja Ramakrishna Rao  d. Sivapriyammal    
e. Answer not known 
1898 k; Mz;L nkl;uh]py; tpjitfs; ,y;yj;ij Vw;gLj;jpatu; 
a. tPurypq;fk; ge;jY  b. [p. Rg;gpukzp  

c. fh[h uhkfpU~;zuht;  d. rptgpupak;khs;     
e. tpil njupatpy;iy 
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94. Which of the following was founded by Rettaimalai Srinivasan? 
a. Sakya Buddhist Society     
b. Advaidananda Sabha  
c. All India Depressed Classes Association   
d. Adi Dravida Mahajana Sabha  
e. Answer not known  
gpd;tUtdw;Ws; ve;j rig ,ul;ilkiy rPdpthrdhy; Jtq;fg;gl;lJ?  
a. rhf;fpa ngsj;j rq;fk;     

b. mj;itjhde;j rgh  
c. mfpy ,e;jpa xLf;fg;gl;Nlhh; rq;fk;  

d. Mjp jpuhtpl kfh[d rig  

e. tpil njhpatpy;iy  
 

95. Which one of the statement is correct regarding Iyothee Thass Pandithar? 
i. He started Advaitha Aandha Sabha in Nilagiri in 1870.  
ii. He started Dravida Mahajana Sangam in 1881. 
iii. He started the formal orupaisa tamilan in 1907.  
iv. He started Sakiya Buddha Sangam in 1898. 
a. (i), (ii) are correct   b. (ii), (iii) are correct  
c. (iii), (iv) are correct  d. (i), (ii), (iii), (iv) are correct   
e. Answer not known 
fPo;fz;ltw;wpy; mNahj;jpjhr gz;bjh; gw;wp rhpahd $w;W vJ? 
i. ,th; 1870y; mj;itj;de;jh vd;w rigia ePyfphpapy; Muk;gpj;jhh;. 
ii. 1881y; jpuhtpl kfh[d rq;fj;ij Muk;gpj;jhh;. 
iii. 1907y; xU igrh jkpod; vd;w gj;jphpf;ifia Muk;gpj;jhh;. 
iv. 1897y; rhf;fpa Gj;j rq;fk; vd;w mikg;ig Muk;gpj;jhh;. 
a. (i)> (ii) kl;Lk; rhp  b. (ii)> (iii) kl;Lk; rh  
c. (iii)> (iv) kl;Lk; rhp  d. (i)> (ii)> (iii)> (iv) rhpahdJ   
e. tpil njhpatpy;iy 

 

96. Which of the following books are written by Al Beruni? 
1. Fatava-i-Jahandari  2. Kitab-fi-Tahqiq 
3. Qanun-i-Masudi  4. Javahar-fil-jawahir 
a. 1 and 3 only   b. 1, 2 and 3   c. 2, 3 and 4  
d. All of these   e. Answer not known 
gpd;tUtdtw;Ws; ve;j Gj;jfq;fs; my; gpUdpahy; vOjg;gl;lit? 
1. gjhth-gp-[`e;jhp  2. fpjhg;-gp-jfpj; 
3. fhdd;-,-k#jp   4. [t`h;-gpy;-[t`ph; 
a. 1 kw;Wk; 3 kl;Lk;  b. 1> 2 kw;Wk; 3      
c. 2> 3 kw;Wk; 4   d. Nkw;fz;l midj;Jk;   

e. tpil njhpatpy;iy 
 

97. Who among the following wrote a book about the Bahmani Kingdom? 
a. Bhukhari   b. Abu Bakr    c. Firdausi  
d. Isami   e. Answer not known 
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gpd;tUgth;fSs; ghkpdp Nguuirg; gw;wpa Gj;jfj;ij vOjpath; 
a. Gfhhp   b. mG gf;fh;   c. /gph;njsrp 
d. ,rhkp   e. tpil njhpatpy;iy 
 

98. Match the following 
Book    Author 
A. Tahqiq-i-Hind  1. Amir Khusrau 
B. Nuh-Siphir  2. Firdausi 
C. Chach Namah  3. Alberuni 
D. Shah Namah  4. Abu Bakr 
 A B C D 
a. 3 1 4 2 
b. 3 2 4 1 
c. 3 4 2 1 
d. 4 1 3 2 
e. Answer not known 
nghUj;Jf 
Gj;jfk;   Mrphpah; 
A. jfpf;-,-`pe;j;  1. mkPh; F];uht; 
B. E – rp/gph;  2. /gph;njsrp 
C. rr; - ek   3. my;gpUdp 

D. ~h – ek  4. mG gf;fh; 
 A B C D 
a. 3 1 4 2 
b. 3 2 4 1 
c. 3 4 2 1 
d. 4 1 3 2 
e. tpil njhpatpy;iy 
 

99. History of the slave dynasty in Delhi Sultanate was written by 
a. Hasan Nizami  b. Ibn Battutah   c. Bhukari 
d. Firdausi   e. Answer not known 
jpy;yp Ry;jhdfj;jpy;> mbik tk;rj;jpd; tuyhw;iw vOjpath; 
a. `hrd; ep[hkp  b. ,gpd; gJ}jh   c. Gfhhp 
d. /gph;njsrp  e. tpil njhpatpy;iy 
 

100. The Book that is not authored by Amir Khusrau 
a. Laila Majnu  b. Tughlaq – Nama  c. Khamsah 
d. Kitab-ul-Rehla  e. Answer not known 
mkph; F];uhthy; vOjg;glhj Gj;jfk; 
a. iyyh k[;D  b. Jf;sf; ek   c. fk;rh 
d. fpjhg;-cy;-ufpyh e. tpil njhpatpy;iy 
 
 



 

28 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

101. Which of the following statement/s is/are correct 
1. Tamil Nadu launched the global Tamil angels platform called ‘Udhavi 

Karangal’ for investments to start-ups 
2. The platform is supported by Tamil Nadu startup and Innovation 

Mission 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdJ / it vJ / vit? 
1. Gj;njhopy; KjyPLfSf;fhf jkpo;ehL muR ‘cjtp fuq;fs;’ vDk; 

cyfshtpa KjyPl;lhsh; jsj;ijj; njhlq;fpAs;sJ 
2. ,e;j jskhdJ jkpo;ehL Gj;njhopy; kw;Wk; GJik Kfikahy; 

eph;tfpf;fg;gLfpwJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
 

102. India’s first STEM innovation centre is inaugurated in 
a. Delhi  b. Mumbai    c. Bengaluru  
d. Chennai  e. Answer not known 
,e;jpahtpd; Kjy; STEM fz;Lgpbg;G ikak; njhlq;fg;gl;l ,lk; 

a. nly;yp  b. Kk;ig    c. ngq;f@U 
d. nrd;id  e. tpil njhpatpy;iy 
 

103. India’s first fully digital banking state is _______ 
a. Tamilnadu  b. Gujarat    c. Kerala 
d. Goa   e. Answer not known 
,e;jpahtpd; Kjy; KOikahd b[pl;ly; tq;fpg; gad;ghl;L khepyk; _____ 
a. jkpo;ehL   b. F[uhj;    c. Nfush 
d. Nfhth   e. tpil njhpatpy;iy 
 

104. The year 2023 has been declared as the International year of 
a. Glass   b. Millets    c. Plant Health 
d. Pulses   e. Answer not known  
2023Mk; Mz;L rh;tNjr _____ Mz;lhf mwptpf;fg;gl;Ls;sJ 
a. fz;zhb   b. jpid    c. jhtu eyk; 
d. gUg;G tiffs;  e. tpil njhpatpy;iy 
 

105. Consider the following statements 
1. PARAKH is the India’s first national assessment regulator 
2. It’s purpose is to test the skills of the students at higher secondary level 
3. It has been launched as a part of the National Education Policy 2020 
Which of the above statements are true? 
a. 1 only   b. 1 and 3 only   c. All of these 
d. 1 and 2 only  e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
1. guf; (PARAKH) vd;gJ ,e;jpahtpd; Kjy; Njrpa kjpg;gPl;L 

fl;Lg;ghl;lhsuhFk; 
2. ,J Nky;epiyj; juj;jpy; cs;s khzth;fspd; jpwid Muha 

cUthf;fg;gl;Ls;sJ 
3. ,J Njrpa fy;tpf; nfhs;if 2020,d; xU mq;fkhf 

njhlq;fg;gl;Ls;sJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 

 a. 1 kl;Lk;   b. 1 kw;Wk; 3 kl;Lk;  c. midj;Jk; 

d. 1 kw;Wk; 2 kl;Lk; e. tpil njhpatpy;iy 
 

106. The International kite festival was celebrated in 
a. Ahmedabad  b. Kolkata    c. Tuticorin 
d. Aizawl   e. Answer not known 
rh;tNjr fhw;whb jpUtpoh nfhz;lhlg;gl;l ,lk; 
a. mfkjhghj;  b. nfhy;fj;jh   c. J}j;Jf;Fb 
d. ma;rhy;   e. tpil njhpatpy;iy 
 

107. India’s first underwater metro is to come up in 
a. Mumbai   b. Kochi    c. Kolkata 
d. Bhopal   e. Answer not known 
,e;jpahtpd; Kjy; ePUf;fbapy; nry;Yk; nkl;Nuh Nrit vq;F tuTs;sJ? 
a. Kk;ig   b. nfhr;rp    c. nfhy;fj;jh 
d. Nghghy;   e. tpil njhpatpy;iy 
 

108. The aim of Amrut Bharat Scheme is to 
a. Provide free food grains 
b. Improve inland waterways 
c. Expand and upgrade broadcasting infrastructure 
d. Modernise railway stations 
e. Answer not known 
mk;hpj; ghuj; jpl;lj;jpd; Nehf;fk; 
a. ,ytr czT jhdpaq;fis toq;Fjy; 
b. cs;ehl;L ePh;g;Nghf;Ftuj;ij Nkk;gLj;Jjy; 
c. xspgug;G cl;fl;likg;ig tphpthf;Fjy; kw;Wk; Nkk;gLj;Jjy; 
d. ,uapy; epiyaq;fis etPdkakhf;Fjy; 
e. tpil njhpatpy;iy 

 
109. Cyclone - I is the joint training exercise between India and  

a. Maldives   b. Russia    c. Egypt 
d. Sri Lanka   e. Answer not known 
irf;Nyhd; – I vd;gJ ,e;jpah kw;Wk; _____ ehLfSf;fpilNaahd $l;L 
,uhZtg; gapw;rpahFk; 
a. khyj;jPTfs;  b. ,u~;ah    c. vfpg;J 
d. ,yq;if   e. tpil njhpatpy;iy 
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110. The fifth Kalvari class submarine of Indian Navy is 
a. INS Vagir   b. INS Khanderi  c. INS Vagsheer 
d. INS Vela   e. Answer not known 
,e;jpa flw;gilapd; Ie;jhtJ fy;thhp tif ePh;%o;fpf; fg;gy; 
a. INS thfPh;   b. INS fe;Njhp  c. INS thf;rPh; 
d. INS Ntyh  e. tpil njhpatpy;iy  
 

111. The movie that won Golden Globe Award 2023 for the best original song 
is 
a. Koozhangal  b. RRR    c. Kantara 
d. Chello Show  e. Answer not known 
rpwe;j ghlYf;fhf 2023Mk; Mz;bd; Nfhy;ld; FNshg; tpUJ ngw;w 
jpiug;glk; 
a. $ohq;fy;   b. Mh;MHMH   c. fhe;jhuh 
d. nry;NyhN~h  e. tpil njhpatpy;iy 
 

112. Choose the personalities from Tamil Nadu who have won the Padma 
awards in 2023? 
1. Vani Jairam  2. Manohar Devadoss 3. Subhadra Devi  
4. Masi Sadaiyan  5. Paalam Kalyanasundaram  
a. 1, 2, 3 and 5  b. 1, 2 and 5    c. 1, 4 and 5 
d. All of these  e. Answer not known 
gpd;tUgth;fSs; 2023Mk; Mz;bw;fhd gj;k tpUJ ngw;w jkpo;ehl;ilr; 
Nrh;e;jth;fisf; fz;lwpf 
1. thzp n[auhk;  2. kNdhfh; Njtjh];  3. Rgj;uh Njtp 
4. khrp rilad;  5. ghyk; fy;ahz Re;juk; 
a. 1, 2, 3 kw;Wk; 5  b. 1> 2 kw;Wk; 5  c. 1> 4 kw;Wk; 5 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

113. The plant a native of western ghats that was recently listed under 
schedule III of wildlife (Protection) Act, 1972 was 
a. Malabar nut  b. Karunochi   c. Hygrophila 
d. Neelakurinji  e. Answer not known 
tdtpyq;F (ghJfhg;G) rl;lk;> 1972-d; ml;ltiz 3 ,d; fPo; rkPgj;jpy; 
Nrh;f;fg;gl;l Nkw;F njhlh;r;rp kiyiar; Nrh;e;j jhtuk; 
a. MlhNjhil  b. fUnehr;rp   c. ePh;Ks;sp 
d. ePyf;FwpQ;rp  e. tpil njhpatpy;iy 
 

114. Missions planned by ISRO in the year 2023 are 
1. Aditya L1 mission  2. Chandrayaan 3 Mission 
3. Gaganyaan mission  4. Mangalyaan 2 Mission 
a. 1 and 2 only  b. 1, 2 and 3 only   c. 1 only 
d. All of these  e. Answer not known 
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2023Mk; Mz;by; ,];Nuhty; jpl;lkplg;gl;Ls;s tpz;ntspj; jpl;lq;fs; 
1. Mjpj;ah L1 jpl;lk;  2. re;jpuhahd; 3 jpl;lk; 
3. ffd;ahd; jpl;lk;  4. kq;fs;ahd; 2 jpl;lk; 
a. 1 kw;Wk; 2 kl;Lk; b. 1> 2 kw;Wk; 3 kl;Lk;  c. 1 kl;Lk; 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

115. India’s first indegenously developed HPV vaccine 
a. Cervavac   b. Cervarix    c. iNCOVACC 
d. Gardasil   e. Answer not known 
,e;jpahtpd; Kjy; cs;ehl;bNyNa jahhpf;fg;gl;l HPV jLg;g+rp 
a. nrh;ththf;  b. nrh;thhpf;];   c. ,d;Nfhthf; 
d. fhh;lrpy;   e. tpil njhpatpy;iy 
 

116. The value of a Motor Cycle 2 years ago was Rs. 70,000. It depreciates at 
the rate of 4% p.a. Find the present value. 
a. Rs. 64,000  b. Rs. 64,512    c. Rs. 65,512 
d. Rs. 64,412  e. Answer not known 
Xh; ,U rf;fu thfdj;jpd; tpiy 2 Mz;LfSf;F Kd;G &. 70>000 Mf 
,Ue;jJ. mjd; kjpg;G Mz;LNjhWk; 4% tPjk; FiwfpwJ vdpy;> mjd; 
jw;Nghija kjpg;igf; fhz;f. 
a. &. 64>000  b. &. 64>512    c. &. 65>512 
d. &. 64>412  e. tpil njhpatpy;iy 

 
117. If 20% discount on the marked price and then another 5% discount on the 

new price is given then the overall discount is 
a.22%   b. 23.5%    c. 24%   
d. 25%  e. Answer not known 
Fwpj;j tpiyapypUe;J 20% js;SgbAk;> ,e;j GJ tpiyapypUe;J NkYk; 
5% js;SgbAk; nfhLf;fg;gl;lhy; nkhj;jj;jpy; js;Sgb  

a.22%   b. 23.5%    c. 24%   
d. 25%  e.  tpil njhpatpy;iy 

 

118. Multiply 
3 3

2 22

a b

a ab b

+

+ +
 by 

2 2a b

a b

−

−
 

a. a2- ab +b2  b. a3 + b3    c. a2 + ab + b2  
d. a3 – b3  e. Answer not known 

3 3

2 22

a b

a ab b

+

+ +
I 

2 2a b

a b

−

−
 My; ngUf;f fpilg;gJ 

a. a2- ab +b2  b. a3 + b3    c. a2 + ab + b2  
d. a3 – b3  e.  tpil njhpatpy;iy 

 

119. 
2

3
,
5

9
,
8
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,
11

81
,
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,    ?___ 
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a. 
42

329
       b. 

17

129
     c. 

17

729
   

d. 
17

243
   e. Answer not known 

2

3
,
5

9
,
8

27
,
11

81
,
14

243
,    ?___ 

a. 
42

329
       b. 

17

129
     c. 

17

729
   

d. 
17

243
   e. tpil njhpatpy;iy 

 

120. Brindha secures 85%, 86% and 84% marks in the test papers with 100, 150 
and 200 respectively as maximum marks. The percentage of his aggregate 
is 
a. 84.88%  b. 72.61%    c. 64.26%   
d. 61.44%  e. Answer not known 
gpUe;jh vd;gth; 100> 150 kw;Wk; 200-I mjpfgl;r kjpg;ngz;fshff; 
nfhz;l Njh;tpy; KiwNa 85%> 86% kw;Wk; 84% ngw;whh; vdpy; mthpd; 
nkhj;j Njh;r;rp rjtPjk; vd;d? 
a. 84.88%  b. 72.61%    c. 64.26%   
d. 61.44%  e.  tpil njhpatpy;iy 
 

121. 2023 Men’s Hockey World Cup was held in 
a. Canada   b. Belgium    c. Australia 
d. India   e. Answer not known 
2023Mk; Mz;bd; Mlth; `hf;fp cyff;Nfhg;ig vq;F eilngw;wJ? 
a. fdlh   b. ngy;[pak;   c. M];jpNuypah 
d. ,e;jpah   e. tpil njhpatpy;iy 
 

122. The United States candidate ____________has been crowned as Miss 
Universe 2022. 
a. R’Bonney Gabriel b. Amanda Dudamel c. Andreina Martinez 
d.  Harnaaz Sandhu e. Answer not known 
mnkhpf;fhtpd; _____________ 2022Mk; Mz;bw;fhd cyf mofp gl;lk; 
ntd;whh; 
a. Mh; Nghdp Nfg;hpay;  b. mkd;lh Llhnky;  
c. Md;l;hpdh khh;l;bnd];  d. `h;dh]; re;J    
e. tpil njhpatpy;iy   
 

123. The best performing state in implementing school health programme and 
menstrual hygiene practices 
a. Tamilnadu  b. Kerala    c. Punjab 
d. Gujarat   e. Answer not known 
gs;sp Rfhjhuj; jpl;lj;ij nray;gLj;JtjpYk;> khjtplha; Rfhjhu 
eilKiwfspYk; rpwe;j nray;jpwd; nfhz;l khepyk; 
a. jkpo;ehL   b. Nfush    c. gQ;rhg; 

d. F[uhj;   e. tpil njhpatpy;iy 
 

http://en.wikipedia.org/wiki/Harnaaz_Sandhu
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124. Match the following 
A. National Youth Day  1. January 4th 
B. Parakram Diwas  2. January 30th 
C. World Leprosy Day  3. January 12th 
D. World Braille Day  4. January 23rd 
 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 2 4 1 3 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf 
A. Njrpa ,isQh; jpdk; 1. [dthp 4 

B. guhf;fpuk jpdk;   2. [dthp 30 

C. cyf njhONeha; jpdk; 3. [dthp 12 
D. cyf gpnua;yp jpdk;  4. [dthp 23 
 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 2 4 1 3 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

125. National Girl Child Day is celebrated on 
a. January 25  b. January 24   c. January 12 
d. January 31  e. Answer not known 
Njrpa ngz;Foe;ijfs; jpdk; nfhz;lhlg;gLk; ehs; 
a. [dthp 25  b. [dthp 24   c. [dthp 12 
d. [dthp 31  e. tpil njhpatpy;iy 
 

126. Fill in the blanks 
______, ______and profit of the deed 
In time to come; weigh these- than to the act proceed. 

 a. Expenditure, return b. with, chosen c. think, then dare  
 d. None of these  e. Answer not known 
 Nfhbl;l ,lj;ij epug;Gf 
 ______, ______ Mfp topgaf;Fk; 
 CjpaKk; #o;e;J nray; 
 a. moptJ}ck;> MtJ}ck; b. ,dj;njhL> Njh;e;njz;zp  

c. vz;zp> Jzpf   d. ,it VJkpy;iy   

e. tpil njhpatpy;iy 
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127. aakkam karudhi mudhalizhakkum seyvinai 
ookkaar arivutai yaar 
In this kural the term Aakkam means 
a. Seyal   b. Oodhiyam   c. Selavu 
d. None of these  e. Answer not known 
Mf;fk; fUjp Kjypof;Fk; nra;tpid  
Cf;fhh; mwpTil ahh; 
,f;Fwspy; Mf;fk; vd;gjd; nghUs; ahJ? 
a. nray;   b. Cjpak;    c. nryT 
d. ,it VJkpy;iy e. tpil njhpatpy;iy 
 

128. According to valluvar whom does will soon perish? 
a. does not live in peace with his neighbours. 
b. Who is ignorant of his strength 
c. One who marvels at himself 
d. All of these 
e. Answer not known  
tpiutpy; nfl;Lg;Nghthd; vd jpUts;Sth; vtiuf; $Wfpwhh;?  
a. kw;wth;fNshL xj;J elthjtd;  
b. jd; typikapd; msit mwpahjtd;  
c. jd;id tpae;J kjpj;Jf; nfhz;bUg;gtd;  

d. ,it midj;Jk;  
e. tpilnjhpatpy;iy 

 
129. What should you do after researching before starting an action? 

1. action’s strength  2. his own strength   
3. strength of his enemy   4. Strength of the allies of both 
a. 1, 2, 4 b. 1, 2  c. 1, 2, 3  d. 1, 2, 3 4 e. Answer not known 
xU nraiyj; njhlq;Fk; Kd; vjid rPh;J}f;fpa gpd; mr;nraiy 
Nkw;nfhs;s Ntz;Lk;?  
1. nraypd; typik  2. jd;Dila typik  
3. giftDila typik  4. ,UtUf;Fk; Jizahdthpd; typik  
a. 1, 2, 4 b. 1, 2  c. 1, 2, 3 d. 1, 2, 3 4 e. tpilnjhpatpy;iy 

 
130. seRunharaik kaaNin sumakka iRuvarai 

kaaNin kizhakkaam thalai 
In this Kural the term serunhar means 
a. arivudayavar  b. valimaiyanavar  c. selvamudayavar 
d. pagaivar   e. Answer not known 
“nrWeiuf; fhzpd; Rkf;f ,Wtiu  
fhzpd; fpof;fhk; jiy" vd;w Fwspy; tUk; 'nrWeh;" vd;w nrhy;ypd; 
nghUs; ahJ?  
a. mwpTilath;  b. typikahdth;  c. nry;tKilath;  
d. gifth;    e. tpilnjhpatpy;iy 
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131. _________ karudhinunG kaikootunG kalam 
karudhi idaththaaR seyin 
a. Gnanam   b. Gnaalam    c. Gnayiru 

 d. Gnamali   e. Answer not known 
__________ fUjpDk; if$Lk; fhyk;  
fUjp ,lj;jhd; nrapd;. 
a. Qhdk;   b. Qhyk;    c. QhapW   
d. Qkyp    e. tpilnjhpatpy;iy 

 

132. thotangaRka evvinaiyum eLLaRka mutrum 
itangaNda pin-al ladhu 
In this kural the term Ellarka means 
a. velga    b. igalga    c. peruga  
d. igaladholiga  e. Answer not known 
njhlq;fw;f vt;tpidAk; vs;sw;f Kw;Wk; 
,lq;fz;l gpd; my;yJ 
,f;Fwspy; vs;sw;f vd;gjd; nghUs; ahJ? 
a. nty;f   b. ,fo;f    c. ngWf  
d. ,fohnjhopf  e. tpilnjhpatpy;iy 

 

133. Fill in the blanks 
Save their own ________ might they need no other aid, 
If in right place they fight, all due provision made. 
a. fearless   b. army    c. wealth  
d. none of these   e. Answer not known 
Nfhbl;l ,lj;ij epug;Gf 
_________ my;yhy; JizNtz;lh vQ;rhik 
vz;zp ,lj;jhy; nrapd; 
a. mQ;rhik   b. gil    c. nry;tk;  

d. ,it VJkpy;iy e. tpilnjhpatpy;iy 
 

134. Choose the kural for the following meaning 
(The king's) choice should (fall) on him, who is of good family, who is free 
from faults, and who has the modesty which fears the wounds (of sin). 
a. How treats he virtue, wealth and pleasure? How, when life's at stake, 

Comports himself? This four-fold test of man will full assurance make. 
b. Of noble race, of faultless worth, of generous pride 

That shrinks from shame or stain; in him may king confide. 
c. Though deeply learned, unflecked by fault, 'tis rare to see, 

When closely scanned, a man from all unwisdom free. 
d. Of greatness and of meanness too, 

The deeds of each are touchstone true. 
e. Answer not known 
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ey;yFbapy; gpwe;J Fw;wq;fspypUe;J ePq;fpg; gopahr; nray;fisr; nra;a 
mQ;Rfpd;w ehzk; cilatidNa ek;gpj; njspa Ntz;Lk; -  vd;gij 
czh;j;Jk; Fws; vJ? 
a. mwk;nghUs; ,d;gk; capur;rk; ehd;fpd;  

jpwe;njhpe;J Njwg; gLk; 
b. Fbg;gpwe;J Fw;wj;jpd; ePq;fp tLg;ghpAk; 

ehZilahd; Rl;Nl njspT 
c. mhpafw;W Mrw;whh; fz;Zk; njhpAwq;fhy; 

,d;ik mhpNj ntspW 
d. ngUikf;Fk; Vidr; rpWikf;Fk; jj;jk;  

fUkNk fl;lisf; fy; 
e. tpilnjhpatpy;iy 

 
135. Which one is the great justice text among all the four? 

a. Neethineri Villakkam  b. Thirukural  c. Naaladiyaar 
d. Aathi soodi   e. Answer not known 
jkpopy; rpwe;j ePjp E}yhf fUjg;gLtJ vJ?  
a. ePjp newp tpsf;fk;  b. jpUf;Fws;   c. ehybahh;  
d. Mj;jp #b   e. tpil njhpatpy;iy 

 
136. ithanai ithanaal ivanmutikkum endraaindhu 

adhanai avan-kaN vidal 
In this kural the term avankan means 
a. allal   b. avvidam    c. aasai  
d. avanidam  e. Answer not known 
,jid ,jdhy; ,td;Kbf;Fk; vd;wha;e;J  
mjid mtd;fz; tply; 
,f;Fwspy; mtd;fz; vd;gjd; nghUs; ahJ? 
a. my;yy;   b. mt;tplk;    c. Mir  
d. mtdplk;   e. tpilnjhpatpy;iy 

 

137. Which of the among the following is not other name of Thiruvalluvar? 
a. Perunavalar  b. Navalar    c. Devar  
d. Deivapulavar  e. Answer not known 
gpd;tUtdtw;Ws; jpUts;Sthpd; NtW ngah;fs; my;yhjJ vJ? 
a. ngUehtyh;  b. ehtyh;    c. Njth;  

d. nja;tg;Gyth;  e. tpil njhpatpy;iy 
 

138. Who does Valluvar refer to as possessor of everything? 
a. Person with energy  b. person without energy 
c. Person with lazziness  d. person with wealth 
e. Answer not known 
vy;yhk; cilath; vd;W ts;Sth; ahiuf; Fwpg;gpLfpwhh;? 
a. Cf;fk; cilath;  b. Cf;fk; ,y;yhjth; 
c. Nrhk;gYilatd;  d. nry;tKilatd; 
e. tpil njhpatpy;iy 
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139. veLLath thanaiya malarnheettam maandhardham 
uLLath thanaiyadhu uyarvu 
In this kural the term malarnheettam means 
a. mannin manam  b. pookalin neelam c. payirgalin vilaichal 
d. malargalin manam e. Answer not known 
nts;sj; jida kyh;ePl;lk; khe;jh;jk; 
cs;sj; jidaJ cah;T 
,f;Fwspy; kyh;ePl;lk; vd;gjd; nghUs; ahJ? 
a. kz;zpd; kzk;   b. g+f;fspd; ePsk;  
c. gaph;fspd; tpisr;ry;  d. kyh;fspd; kzk;  
d. tpil njhpatpy;iy 

 
140. kutiyennum _______ viLakkam matiyennum 

maasoora maaindhu kedum 
a. Uyarndha   b. Mangaa    c. Kundraa 
d. None of these  e. Answer not known 
Fbnad;Dk; ______ tpsf;fk; kbnad;Dk; 
kh#u kha;e;J nfLk; 
a. cah;e;j   b. kq;fh    c. Fd;wh 
d. ,it vJTkpy;iy e. tpil njhpatpy;iy 
 

141. netunheer maRavi matidhuyil naankum 
_______ ______ _______ 
a. maaNpayan eydhal aridh b. ketunheeraar kaamak kalan 
c. maaNda uGnatri lavar  d. atimai pukuththi vidum 
e. Answer not known 
neLePh; kwtp kbJapy; ehd;Fk; 
_______ ______ ______ 
a. khz;gad; va;jy; mhpJ b. nfLePuhh; fhkf; fyd; 
c. khz;l cQw;wp yth;  d. mbik GFj;jp tpLk; 
e. tpilnjhpatpy;iy 
 

142. _________ ennum thakaimaikkaN thangitrae 
vaeLaaNmai ennunhj serukku 
a. Velanmai  b. Thaalanmai   c. Vaalanmai  
d. Vizhaiyan e. Answer not known 
_______ vd;Dk; jifikf;fz; jq;fpw;Nw 
Ntshz;ik vd;DQ; nrUf;F 
a. Ntshz;ik b. jhshz;ik   c. thshz;ik  
d. tpioahd; e. tpil njhpatpy;iy 

 

143. Choose the kural for the folowing meaning 
He who desires not pleasure, but desires labour, will be a pillar to sustain 
his relations, wiping away their sorrows. 



 

38 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

a. Effort brings fortune's sure increase, 
Its absence brings to nothingness. 

b. In sluggishness is seen misfortune's lurid form, the wise declare; 
Where man unslothful toils, she of the lotus flower is there!. 

c. 'Tis no reproach unpropitious fate should ban; 
But not to do man's work is foul disgrace to man!. 

d. Whose heart delighteth not in pleasure, but in action finds delight, 
He wipes away his kinsmen's grief and stands the pillar of their might. 

e. Answer not known 
jd; ,d;gj;ij tpUk;ghjtdha; Nkw;f;nfhz;lr; nraiy Kbf;f 
tpUk;Gfpwtd;> jd; Rw;wj;jhhpd; Jd;gj;ijg; Nghf;fpj; jhq;Ffpd;w J}z; 
Mthd; - vd;w nghUSf;Nfw;w Fwisj; Njh;f 
a. Kaw;rp jpUtpid Mf;Fk; Kaw;wpd;ik 

,d;ik GFj;jp tpLk; 
b. kbAshs; khKfb vd;g kbapyhd; 

jhSshd; jhkiuap dhs; 
c. nghwpapd;ik ahh;f;Fk; gopad;W mwptwpe;J 

Ms;tpid ,d;ik gop 
d. ,d;gk; tpioahd; tpidtpiothd; jd;Nfsph; 

Jd;gk; Jilj;J}d;Wk; J}z; 
e. tpilnjhpatpy;iy  

 
144. atukki varinum azhivilaan utra 

_____ ______ _____ 
a. idukkaN idukkat padum 
b. ompudhal thaetraa thavar 
c. kaiyaaRaak koLLaadhaam mael 
d. thunpam uRudhal ilan 
e. Answer not known 
mLf;fp thpDk; mtptyhd; cw;w 
_____ _____ _____ 
a. ,Lf;fz; ,Lf;fl; gLk; 
b. Xk;Gjy; Njw;wh jth; 
c. ifahwhf; nfhs;shjhk; Nky; 
d. Jd;gk; cWjy; ,yd; 
e. tpil njhpatpy;iy  

 
145. idukkaN varungaal nakuka adhanai 

atuththoorvadhu aqdhoppa thil 
In this kural the term Idukkan means 
a. thunbam  b. Inbam    c. Varumai 
d. Noi  e. Answer not known 
,Lf;fz; tUq;fhy; eFf mjid 
mLj;J}h;tJ m/njhg;g jpy; 
,f;Fwspy; ,Lf;fz; vd;gjd; nghUs; ahJ? 
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a. Jd;gk;  b. ,d;gk;    c. tWik 
d. Neha;  e. tpil njhpatpy;iy 

 
146. A man bought an old typewriter for ì 1200 and spent ì 200 on its repair.  

He sold it for ì 1680.  His profit  per cent is: 
a. 20%  b. 10%    c. 8%    
d. 16%  e. Answer not known 
xU egh; xU gioa jl;lr;Rg; nghwpia ì 1200 f;F thq;fp mijg; gOJ 

ePf;fk; nra;tjw;F ì 200 nryT nra;J> mij ì 1680f;F tpw;gid nra;jhh;.  
mtUila ,yhg tpOf;fhL: 
a. 20%  b. 10%    c. 8%    
d. 16%  e.  tpil njhpatpy;iy 

 

147. If a2 + b2 = 234 and ab = 108 then find the value of 
a b

a b

+

−
 

a. 10  b. 8  c. 5  d. 4 e. Answer not known 

a2 + b2 = 234 kw;Wk; ab = 108 vdpy; 
a b

a b

+

−
 -d; kjpg;igf; fhz;f. 

a. 10  b. 8  c. 5  d. 4 e.  tpil njhpatpy;iy 
 

148. Which of the following pair of numbers is co-prime? 
a. (17,15)   b. (10,16)    c. (20,24)   
d. (31,62)  e. Answer not known 
gpd;tUtdtw;Ws; ve;j N[hb vz;fs; njhlh;Gila gfh vz;fshFk;? 
a. (17,15)   b. (10,16)    c. (20,24)   
d. (31,62)  e.  tpil njhpatpy;iy 

 
149. If the numerator of a fraction is increased by 15% and its denominator is 

diminished by 8%, then the value of the new fraction is 
15

16
. Find the 

original fraction. 

 a. 
1

4
   b. 

3

4
      c. 

3

16
   

d. 
15

4
   e. Answer not known

 
xU gpd;dj;jpd; njhFjpahdJ 15% mjpfhpf;fg;gl;L mjd; gFjpahdJ 8% 

Fiwf;fg;gl;L tUk; gpd;d kjpg;G 
15

16
 vdpy;> njhlf;f gpd;dk; vd;d? 

 a. 
1

4
   b. 

3

4
      c. 

3

16
   

d. 
15

4
   e.  tpil njhpatpy;iy 
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150. The marked price of an article is 10% higher than cost price.  A discount of 
10% is given on marked price.  In this kind of sale, the seller bears: 
a. no gain, no loss  b. a loss of 5%   c. a gain of 1  
d. a loss of 1%  e. Answer not known 
xU nghUis tpw;gid nra;tjw;F eph;zak; nra;ag;gl;l tpiy 
mjDila mlf;f tpiyia tpl 10 tpOf;fhL mjpfk; MFk;.  
eph;zapf;fg;gl;l tpiyapypUe;J 10 tpOf;fhL js;Sgb toq;fg;gLfpwJ.  
,e;j tifahd tpw;gidapy; me;j tpw;gidahsUf;Ff; fpilg;gJ? 
a. ,yhgKk; ,y;iy> el;lKk; ,y;iy  b. 5% el;lk;  
c. 1% ,yhgk;     d. 1% el;lk; 
e.  tpil njhpatpy;iy 

 
 


